N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] 4] 9] 1%2]
x x 4 X
[=] [=} [=) Q
g 8 8 g
3 g 2
E 8 10 8
=3
=
k=]
1
il
T
24 [24 [24
E-
oo 0.95| Jeundt :
%50 =15 -10 5 0 5 10 15 20 0¥ =510 5 0 5 10 15 20 %50 =15 -10 5 0 5 10 15 20 051510 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
4] %] 1%]
x F--- X k>4 : : : : :
3] 5 5} : . : : :
g g S AR e SRR
g e o : : ] : :
E] & 8 [ R T R R
a . . 3 . N
S . . 3 . .
© Loeeiaaanas [ A H
il
T
.................. o
%3020 -10 0 20 30 -30 -20 -10 10 20 30 10 20 30 0¥35 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


